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A AR E
M HAPAZH|(XXIHE D)
ool QIARAH|(BZ) (SH &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
o= 18,108,471
ouesa+< 564,514,000&x1& 564,514
OFS st 2,567,392,000& 14 2,567,392
(@Fpijet= 390, 154,000« 14 390, 154
Od2+4 Itt= 834,812,000 14 834,812
Og2+g Fbrt=
117,761,000& 14 117,761
ONs=e 720,891,000 14 720,891
OIVELTEE S
154,762,000& x 13 154,762
OSs0tsag 268,590,000& x 14 268,590
ORg=22=d 67,328,000& 14 67,328
Ogetd=g 4,812,000 14 4,812
OJlsgEsY 168,275,000& 13 168,275
OJEHB4Y 3
104,899,000& *1H 104,899
OS=K22+g 775,000+ 1= 775
Og7gRg 4,810,000 14 4,810
Oz 200,000,000& 14 200,000
OS+H24g 383,617, 00024 +1A 383,617
OS+EREY 2
24,659,000& x14 24,659
OFSr=Eat= 52,898,000& 1 52,898
Od2ae=g 11,071,000& 12 11,071
OAIZ2 22+ 4,339,400,000& *1= 4,339,400
Oxdz2f=¢ 57,092,000& x14 57,092
O2clg R 40,272,000& x14 40,272
(@FSEU= ]l 1,798,412,000& 14 1,798,412
O ESIt| 3,589,095,000& 14 3,589,095
Ot | 802,214, 00024+ 14 802,214
OSAHeBRYLY
13,285,000& 14 13,285
Odla2f=4 13,285,000& 13 13,285
ORHIERE+H 17,713,000& 13 17,713
Ogug =g 626,221,000 x 14 626,221
OQA N F = 25,462,000& 14 25,462
OsARE =
100,000 »8IH & +180H 144,000
02 JIet& 24 4,511,420 4,111,420 400,000
OIIN JlE2s 2,875,192,000& 14 2,875,192
o=g 586,890
OJtE=g 28,004,000& x14 28,054
OXHEHI B2 3,796,000 +14 3,7%
OAIZ2I 22+ 189,103,000& *13 189,103
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SA R E
M HYRAZHI(AXHZ L)
ool QIARAH|(BZ) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OISl 20,106,000 *1 20,106
OFHZAH| 112,608,000 * 1= 112,608
OAZExH| 151,366,000& 14 151,366
OS2 4| 72,017,000& *1 72,017
OFg=e=g 9,840,000& »1& 9,840
oxEZE == 299,363,000& * 1 299,363
o= 165,024
og2+¢ 20,072,000& x1 20,072
OF2LLINND 82,0002 1 822
ORI
1,973,000& 14 1,973
OIE+e 4,603,000 * 1= 4,603
OXHSHIE XS 14,943,000& 1 14,943
ogta=g 597,000& x13 597
OISl 3,287,000& 1= 3,287
OF A G A 10,684,000 x 1 10,684
(OFSF= N 11,656,000& 1 11,65
OEEFIH| 29,953,000& 1 29,953
Oc 2 &l 7,213,000& x1& 7,213
OAlteIZ22+E 32,132,000& 1 32,132
O ] 27,089,000 x 1 27,089
OHAHMEHESH JlEs
42,020,000 1 +1 42,020
o< 22,931
od2=+¢ 3,125,000& 1 3,125
Oda+=gitits 1,391,000& %1 1,391
OJEx=g 316,000& *1 316
OXtHsHIE XS 3,874,000& x13 3,874
oISl 633,000+ 1 633
OFHZAH| 1,644,000& 14 1,644
(OFSF= N 1,328,000& 1 1,328
Og&E=otdl 3,751,000& 13 3,751
OSJt2 &l 1,783,000& 1= 1,783
OAlteI22+E 5,086,000& 1= 5,086
OdF+502Y] 520,000,000 * 1 520,000
SIUAHA22IH(EZ) 16,939,509 16,567,312 372,197
101 21AH| 14,575,000 15,005,000 430,000
03 SR (RIH )22 U2+ 14,575,000 16,005,000 A\430,000
O32A 21| 14,565,000
O32% Jl2ag S(HE+E,403)
12,755,760,000& x 1= 12,755,760
Os8NEE 1,809,240
—=gHl 710,640,000+ 1 710,640
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2A: AXAEE
. HY2IZY|(XX&H )
Chel: J1=2 &l EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
202 Ot 69,840 69,552 288
01 =WHO4bI 62,640 64,800 A2,160
e SO
180,000& x20H x 122 62,640
02 X0l 7,200 4,752 2,448
A 4,800
o= 200,000 x2F+12& 4,800
O="HIA 2,400
oJ|z 200,000&x 1+ 122 2,400
203 PR =&IH| 146,760 145,700 1,060
01 J|22H R FAH| 141,300 140,300 1,000
OJ I 22HARF=THI(AIE)
79,200,000& 1 79,200
OJIZA2IHRFTEI(RAIE)
56,100,000& 1 56,100
OJ|H2HERFIHI(ZE)
6,000,000& 6,000
M FA2LHRFAH 5,460 5,400 60
ORAN2ILRF&I 455,000 128 5,460
204 MM AH| 27,900 27,900
01 MM Z R+ AL| 27,900 27,900
OXHMZ AR LAY (AF)
975,000& =128 11,700
OXUZ R LAY (RAIE)
900,000& =123 10,800
OXHZSARLHAH|(DE)
350,000& =123 4,200
OXHMZ AR L-HAH|(DHE)
100,000& x 123 1,200
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